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Like Terms

A | Like Terms have the same:

1.1etters AND 2.powers
B | Like Terms can be added and subtracted to form simpler algebraic
expressions.

Eg.15a+5a—7a= 3%  Eg2m+4m—10m= _Tm
C | When adding and subtracting like terms, do not change the p_owers

3
Eg.ez+ez+32= 3&1 Eg. 2b3 + 7b3 — 3b? = 94 -3b%

*“ |
©J 32 Like terms or not?

BB R S B OROE RN R @M W B R MRS SR AW SRS S ES BSOS =L SR ESESRREEB SR BRARE RN EE R EE N KRR B R R RE AR SRR RS SRR S

1. -2p,-2q Yes /Ko 10. 5j,-3j @;No
2. 3m, 7m Yes'/ No 11. h ¥ ‘z’es;’@
3. 51, 5t ves /(NG) 12. 29, 3g Yes)/ No
4. -6u, -6u Yes /Ko) 13. 2¢° 2g° Yes /(No
5. K, 3k (¥es  No 14. pq, gp (V&9 No
6. x 3x Q@H\Ia 15. 2mn, 3nm @;’No
7. ¥,y (3?3,! No 16. 3ab? 10a%b Yes ,’@
8. 2w, 8w (YES / No 17. 2pqr*, 5r'gp (Yed / No
9. 2j, 3 Yes /No) 18. ~4cide, 4cde? Yes /(NO)

Collecting Like Terms

Watch Video 1

Complete the examples below:

Simplify 12m — 5n — m + 8n.
+3n

[

Simplify 4x2 — 9x + 9x? — 12x.

rrgxz-— 2lx

Simplify 10ab? — 4a?b + 7a®b.

loab® + 30}5



35 Collecting like terms
without directed number

Simplify the following algebraic expressions by collecting the like terms.

B I O E E  E L E R T T T T

Set 1 79~ 1g) + 99 =159  Tip: Each + or - sign belongs to the term to the right
L — TR S rmnieer of the Sign.

15f+ 10f-3f= 22f
15q-2q-13g=.9
12b+b-4b=. 1b

5¢+ 30c—11c+ 20c= _T1C

|, pbxe. LR
n+n+n+n= 4"’
Sm+8m= [3@

2h+3heh=_bh

RATIE ST R
ow N O

20q-13q= | 7 10. 23r+10r-5r-8r=_ 200

Set 2 150 (¢ 19b S 1a - lf}b = 14a +9b

1. Sm- 2m+7q”-. 3"" + 77— 6. 22c+4d-10c+3d= 12¢ T4
2. 259 +10h-5g=_ 209 H10h 7. 50e+40g-e—-g=_ 4‘?2,,3( 37j
3. b+12b-4a=_13b - T 8. 18+ k-6j+11k= |%) + Bk
4. 7y-y-10x=_ 6§ - 1% 9. 12p+22q-p+8q=_lp*3°9
5. 10y + 20y + 10z=_____3°\j...-i- loz 10. 33d + 14w-20d-9w= /3d + 5w

Set 3 P2 + 7P2 - 3p? ) = 5p? Tip: The powers stay the same when adding and
R subtracting like terms.

L +b+b= 362 6. 4pq+3pr=_ 4{’1,4’3/’{..‘
2. 6a+11a2=__ | la? 7. 6a%b+ 4ba*= 10 a°b
3. 22m-4m=_ 1803 8. lade+sed= 14d% 1 be*d
4. 4pg+6pq=  lopd 9. 36mn-122m=36m = 12a%m
5. 20ab - ba = [Tha 10. 15m?n-12nm*=__ 3 m*n
Set 4
1. -35m-15m=___~ 99 m 7. 4a*b - 19ba* = -[EQ_ZL '
2. 6f-29-8f-g=_ = 2L =59 8 -wt+30vu=_2lav’
3. -10bd + 15db - 30bd =~ 25 bd 9. 15w -dv= | 5‘”2_.___4__‘(.“2
4 1ims_goms= —29m> 10. 4zy + 42 = ‘ij + 42%y
5. atebi-dar= ~ 307 4 b* 11. 52y - 1222 = 52" il Zj
6. pq-12qp +pg=_~llpqg + pq? 12. 11r-or-152=_ = 4r° - 9r



Multiplying Algebraic Terms - Understanding

2x2=_2°

3
2x2x%x2= 2

24
ZELI NI ND=

5
2X2x2x2x2=2

6
2 X2X2%Xx2x2x2=272

27
2 X2 X2X2X2X2 X2=
.,,v__%%
433
2X2X2x%X2x%x3x3 x3=2 X

5
2
5X5X7X7X7%X7 x7=5X7

4X4%X6X6X6X6X5= 4xb6x5
+

axas=s *

3
axaxa= %

4
axaxaxa= *
5
axaxaxaXxXa= *
6
axaxaXxXaxXxaxa= %
5
axaxaxaxaxaXxa= *
254
axXaXxXbXxbxbxb=_ ¢
6
exexXxexexexe XxXa= _ ¢ &~

Watch Video 2 "

As we increase the
number of times 2 is
multiplied by itself,
its power increases.

The number 2 is
calledab :

We do not combine
different bases. We
write them
separately with their
own power.

We will use the exact
same rules for letters
as we did for the
numbers. As we
increase the number
of times a is
multiplied by itself,
its power increases.

We do not combine
different bases like a
and b or e and a. We

write these terms
separately with their
own power.




Multiplying Algebraic Terms — Applying your Understanding

EASY
Set 1 Set 2
1. 3xa= 3* 1. axa= @°
2. 10 xm= 0m 2. axaxa= &°
3. 7x2p= l%p 3. exe= "
4. 5 x 4c= 20¢ 4. cxdxc= ¢ d
5. 9bx 3= Z1b 5. 5p x p= 5p°
6. b x a= ok 6. 2g xp= 71
7. axb= 0b 7. 2q x q= 29°
8. pxgxr=,1" 8. 2g x 5= 199
9. 3n Xx2m= 6mn 9, dXxex6=06de
10. 5a x 3b= |5ab 10. exex7= [
11. 2f x 6= I2f 11. nxn= 0
12. 11g x 5= 559 12 nxmxn= mn’
13. 7 xu= /'« 13. nx4x2= 8o
14. p xq= f§ 14. axbxc= 0bc
15. 5p x 4q= “°f] 15. c¢xbxc= c’b
16. 11 X 2n= 22n 16. bxbxb= b

17. a x9= Ja 17. 3xbx5= |5




Multiplying Algebraic Terms — Applying your Understanding

HARDER
Set 1 Set 2 ;
3
1. 3ax2axa= bo 1. —YXyX—-y= j
3 3
2.  —5Smx4mx-m= 29m 2. —yxyxy= ~
3 b
3. ~fx=fx-f= - +# 3. —fx-ex-b= —f¢
] % 2
4. -1lpx5x2p=  ~!l0op 4. —gqx-rxq=  g°r
2 —150% /A
5. 3n*x-5r= 20 r 5. “HW'x=} = h
g
6. -12m*x-5°= 6on’ 6. —11d°x—10b2= [l04' d
" 6 —
7. —6g°x-2g°x-2g"="2%9 7. _px-17/"xj= 7]
.8 Il
8. —h'x—h*x-h’= n 8. 35x-S5sSx—s>= /9
31 I
9. —70°x-50"x—0="30 9. Wx—ux-u'x-u= n
13 4
10. —3/°x—9;8x—2¢* = ~5tr £°10. —nxnx—nx—n= -n
o 10 2/3
11. 47°%x-15x"= 60z x 11. 2gx-bx—3ax—b*= ~—bao
3 45 15 ¥
12. _W3X_x4x_2y5 - -20\1 JLVF’ 12_ _7f3><c5x_4f|2x__c3= _Z%_F c
(! 4 ‘. )
13. 8ax—b'x—Tct= 5622 ¢ 13, _zm x50 x 2dX-4m_ [20mnd
/2 10

¢
14. 3dx—d*x-22d =-664d 14. —Tm''xnx—12n°x—m=~8tm o

2 <&
15. —SmPx—Smx—5m’=-125m° 15, —8mx—nx—nx—m= +12m 0



---------------------------------------------------------------------------------

4. Multiplication and division

a1 Multiplication basics and beyond

Setl 92
1. ax aza' I
3
2. axaxa = (L
z
3. axaxb= OLb
4, axbxc= .. CNLC
4
5. mxmxmxm=_1M_
6 pxgxr= f’?,r
7. mxn= mn
2
8 mxnxm=_Mm
o
9. pxqxpxq= P b
3 (2
10 axaxaxbxb= & J’
Set 2
= 2 Lz
1. a x bl:. & .
3
2. ¥xa= 18
¢
3. @t xat= @
7
4, @*xa°= 1.8
2
5. mixm= m
14
6, clx = C
lo
1. Pepxp=___p
B fxftxrf= . -Fé
2 2 3
9. #xexfi=_gd &

10.

o Z
dExe?xd= d’ .

Multiply each of these algebraic expressions and write the answer.

Set 3 ,,l,
1. dxaxb= ‘}
2 3xmx2Zxp=_ anlf)m
2
3. 6xmxSxm= 3OM
4. gxhx4dxd=_. 43"’&
3
5. 6xwxwxw=__ GW
=
6. 10xa*xS5xa’= 50 a .
7. 3xpixTxpl= 7—{f’5,
P
8 llxmix4xq= 44 m A
5
9. 12xPxd4xt= 48!" 'é
12
10. IxyPx12x 2= logj
Set 4 "

10. 8p°q® x 12¢°p* =

2

1. Smnx7mn=_ 35’" n__
0

2. 12pgx3g= 36p9

. 3 bz'

3. 3atbx2ab=_6 o
3 3

4. 8fgPx7rg= 56179

s 5
5. o xges= 54 d’e

4 &
6. 8e'g® x 6g°e = 48 ¢ j

20 .
7. 10k x 8k = 80 k|

T 1
8. 4b'csx9cs=  36h C

9. 6p*q° x 7q"r=



4 Quick Quizzes

Set1
7

a+a-=

10a + 7a = | Ta

3a-3a= Y

1.

2

3

4. 4a-6a= -2
5. 2a+2a+2a=
6. 3 x2a= 6¢
7. axa= &
8 a><a><a=tl3
9. axaxa=a’

10. 5a X 6a= 30a”

Set 3

1. beapz= 26"

2. b2+b3= bt’LBg

3. 5b2-2b2= 3b°

4. b X b= b*

5. bxbxbhsb

6. bZ2+b3= 51'”’3
7. Becz= brte’

8. 4b2+8b2-9b2= 3b°
9. b2+b2+b2= 3)?

10. b3+ b3 +b3= 3b°

Set 2

2R NS\ RN e

X+X+x= %
5x-3x= 2%
2x-3x= ~ %

x X x= x°

x X 5% x= bx*

2 % x x 10 x x=20x"
X X4 XxX2Xx=
12x-9x= I~
9x-12x= — 3

10. x-x= O

Set4

o AR A

yreyr= 2
11y5-4y3= 8y’
yxyxy= ¥
2 X 32 ><y2=jé
d? x e? = da‘gz
d2+d2= 2d°
dzx dz = d*
B+ dedz= 3d
Exdxd= d°

10. 3d2x5dt= |5d°




Dividing Algebraic Terms

Watch Video 3

Simplify the following:

4 ¢ 2
a d+af= % b xsd= X ¢ yrzyos J
Z ) 2
d o'+ = G x e 18¢+9'=__ 2o~ f 36w +9m*= fw T
2 2
g 15n°+5n=_ 3n 4 e M9 =97 A i 484+ 164t = 3a
<4 i ;
j a¥+d= a w i BB Pm s k —— . L ¥ L P 1
_ 4 | 3
m 2d%+6f = 20.. e W 2T+ 120 = .zmmmmmw o m e = mn
3.3 2.7
P f)‘)q& —;-p“(f,.—.. ID ?. q an +df= o O n._ .. r 1286850 = . 2 b

Write each of the questions below as a fraction before simplifying.

té
Q1 27y+3 qj Q9 32m~+6mn n
Q2 15xy+3 5"‘_7 Q10 44°b +a’b o
Q3 24ab +Rac _3_&. Q]l ‘ﬁlragﬂtmab2 %
4
4 x - 2 i .
4 ) =24 12 i
Q4 32xy+24yz . Q12 6¢+12t 21
) -5ec

Q5 50mn+35n _,I_..i"“.-— Q13 —5abc+ab

Q6 4x+8 L Q14 -~k e-0p
2 7j
Q7 —31+9 '3" 015 —fdum+i2m ~ 0N

Q8 —122%+ —6a° 2




Order of Operations

Brackets —
P_gwers \ . Work from left to right if you have both
D inifion &M « Hz‘p I catiorn - division and multiplication

i ddihin &% abfractien - addition and subtraction

Use order of operations to simplify the following expressions.

4x + 2x X 2y

= 45 4 ‘]’K\j

3x X2y + 4xy

- (x.j -+ 4X.j
—2xj

S5aX2b+ 3bx—10a
p— [oab + - 30 0«1’

—TxXw—4wX -2z 4+ wz + 2zw

== Txw + gz Hwz +22W

= 103,5—30WL = - 7w "/'//ZU\J
= - 20ab

10a — 40ab + 10b 26xyz + 2xz + 6y
= [0a — 4 =13y +§y

14mn +2n — 6m X7 X 24xyz + 4x2 & IQF'/‘ {D ,17[
.".'—{m.-gn'l, ::.24)(,1sz -: ‘i’x.z

= m =éxyz

20xy = 5x + 30yz = 62

15d X 3f — 200def + 10e

= 4y + 5y = 45df — 204df
= qj = ;ZS'd.)L’
3*"}‘4}"*‘5}’ 4V><2\’X2}'
%nyyXy 4y + 2y + 2y
= [€ 3
= 12y J
3
éj gj
= 2
" =49

10




Expanding Brackets

Watch Video 4

Set 1: Expand the following brackets. Draw in the imaginary X sign and the rainbow for

each question.

543 -a)
bb+4)
2z~ 3)

~ 542"~ 2)
3(g+h+2)
20k +2y—1)
m (m — 6))

9d (d - 5)

|5-5a u? (u - 4)
b2 + 4b 2u® (u - 3)
£ B 3% 3)
e 7c3(2 - c)
3J + 3k + 6 8mi(m - z)
— 2k -tj + 2 —dr(r+2)
m* = m —4rS(r=1T)
4% - 45d — 4Bt~ 27)

X

L3 442
Zu“ - gug
2
3p2f - 1p
[4¢* -7c°
3

8M+-— Egm Z

—_ qu- o r

_ ‘hr'é + 29(_;

_ 4+ gt e

Set 2: Expand the following brackets: Draw in the imaginary X sign and the rainbow for

each question.

2){a—3)+3;(a+5)

4£b—3) + 7‘(19 +3)

m(m = 3) = 1(m +2)

&(p+8)+5px(p+2) =

Mw-5)+3m(f+2) =

kx(k + 10)+k£k—2)

Ca "f'?

d}((‘51—7)—3(1 =

t"l '_2—?'-3&

= 0.-29

2
48.—['2- G 751" 35 5C)((C—7)—3£’2 = 5&2 —35C - 30

e + 2

- 2

= 2(.1-35('

2
mo=3m=m 3 0-3)-6y-2) = Ty*- aly - by'+ 12y

m’”-—‘}m,-?—

2z
P2+ 3p + 5p 4 lop 8(g—7) + 20g

sz + (8p

?+w ._+5-,F+ 3“" +(w

12w f 7 454 g

_2k* + 8k

11

3£e —4)—6}6—2)

z
=k +lok*t k- 2k 6b(a~3) - 2a(b+5) =

=32'—?J
= 8\7 - 36 1289
=28j-—5-g

3o -2 —¢ + 2

I R

(ob - 8b-2eh-loa
= ‘f‘mb -igb - e

&



5. Expanding and factorising

Y 51 Expanding brackets

Expand each of the following brackets.

-------------------------------------------------------------------------------

Set 1 Set 3
Remindezj: When multiplying, a + and Reminder: 4n x m =fnﬂ'1; 3a x 2e =boL
2 ::u:;a 3&' 4+ 15 1 sedsn . Jed tIef
2. 2(m-4) dm -8 2 sqeep o1 578
s togm _ 20 -lom | 3Se2eq ey 43 /29 1
Cipeg dpm #L | wswy 2dp T
. §5a 1 40+ 8u 5. 9j(2f-g) __l____gjzf+' JJ
6. 6(2y—5) I3y ‘30 6. 7rrew) T - 7_7: “"1
5 dGgrs N2 +20 7. Irw-n 1w =3
8. 9(3-2w) 27 — I8w | 8 7r5-3n 397 .'— /I rn
9. 10(5 + 3g) 50 + 309 o. 1mgm-ny ™" "
@ ne-g _He— fid 10. 11m(d- e //md - flme
Set 2 Set 4
Reminder: p x q = bk gﬁn:i?xﬁffﬂhm multiplying, a - and
1. fg-w  _f§- 4R | S@+2) _~Sa -—lo
2. ulv-w) uV—-wu. ______ 2. ~4(a-3) i 4'0‘ t 12
3. de-a _de- dF 3. -(mesy oM —50
4. m(m-n) m*- mn 4. -7(3 + 2p) -l - l4p
5. qr-q 97 " ¥ 5. -6(9a - 4) - 5'4'61 + 2%
6. alb-d) &L— hec 6. ~4p(p-¢g) - — lt,:‘ + 4fj
7. aa-b) a®- b 7. ~2m(h - d) - 2mh 4 ;".‘d'
8. ab-a) ab - o* 8. -82(z + 8) -3 —é%2
9. x(x-y) t- ny 9. -3jj-9y 347 + a7
10. x(x +) xRy 10. ~11k(i + 1) - llke - llkt

12




Finding the Highest Common Factor (HCF)

Watch Video 5

The highest common factor (HCF) is the largest number that divides exactly into two or more
numbers without remainder.

Find the HCF of the following numbers:

HCF HCF
1. 5 20, 10 S 2. 16, 20,18 i
3. 189 12 3 4. 8 24,40 ¢
5. 20, 10, 50 O 6. 11,5,30 J.
7. 25, 10,15 . 8. 22 16, 8 2
il Yo
g . 02 10. -30, -50
11. -21, -14 -1 1% -59.718 -

Note: If both terms are negative, the HCF will be negative.

If we have algebraic terms, the HCF is the largest term that divides into several algebraic
terms.

Find the HCF of the following algebraic terms:

HCF HCF
1. a, 3a, 6a a. 2. 2p, 5p, 3p t
3. 10h, 5h, 20h 5 h 4. 12n,6n,15n 3n
5. ab, ab l 6. n,mnm 1
7. 3pq, 6p 3 l 8. 3pgq, 6pg Bf 1
9. 20d, 60de (od 10. 20d, 60e ie
11. abe, bed be 12. 4abc, 2bcd 2 be
13. uzu w 14. w3, u? uz

z -

15. x5, x2 i 16. 2x3,4x2 2%
17. 1503 60 3a’ 18. 1543 30a2 /5a”
19.  12xy2 20xy 4 1 20, 12xy2, 20x2y 4 x ;I
21. 25a2b, 10ab2 5ab 22. 50ab?, 10a2b> (oab*
23. 15d, 12&° 3d 24. 30pq, 20¢3 10 4
25. fg, 0% f 1 26. f9.f9% fg 4@_

13




Factorising

Watch Video 6

Means to take out the highest _ (™Mo factor in an algebraic expression. The highest

common factor is written at the q[ﬂmff of the bracket.

Type 1: Taking out only a number eg. 5( ).
(p+ 19 +6) = 5(a’- éa“)
. 2p+4g+12 = 2lpt ? 2. 5a2-30a +15 =

3. 2du—15w = 3(“";‘“’) 4. 8n-2g = A(4n 'i)

5. 12a-8b :4(3“'16) 6. 33u—22b :I/(Ju“%)

\

7. 6z+18 =‘(2+3) 6. 5g-20 —5g'ﬂ

- 5(2k-? -
9. 10k-15 ~ 5(2 ) 10. 24j-18 = g(4J -5)
1. Sox—10 = lo(2*~ l) 12. 50x-20y = [0 (Fx-fj)
13, 12u-15 = 3(4“"5) 14, 12u-15k = 3(4“‘3/‘)

3
15, 10g-25n+154 = 5(43-5h7 Y 16. 9f-3u+21 3(3f-u +7)

17. -2p-22g == 2(p “’J) 18. —5b—15¢ = —5(“30)

19. -28-7Th =7 ({j ¥ %) 20. -15y-9 ——3(534 3)

21, —9y—15 = -3(39+ 5) 22, —20p-30q —fo('l,o+3‘t)
23. -8p-16 ~ 'Q(J ' 9 24, -8p-12g-16 = — ?[29+37+9

* If both terms are negative you must take out the minus sign.

14



Type 2: Taking out a letter eg. m( | #

I

11.

1%

15,

17.

19.

2].

23,

23,

4a + a*

= Q(4+“) 2.
abc + bc+ab = A(ac+c+&) 4.
106+p2 = b(lo? 5) 6.

12p — 11p? =P("’3“”/’) 6.

exer =e(14¢e) 10.
pa+q =1 (P*‘f,) 12,
et = @ (14 ul) 14.
d+2d = at(H“{) 16.

2
S5d-d+248L = i(g'd "L‘ZGL)IS.

@ +ab® = ab @45) 20.
y+aw = 2(y4 w) 22
—ab—bc = —b(a-fCJ 24.
-w-w = — 2 (14 ‘L) 26.

wry+y Yy (xty UZJ
ab+5 = h(a+b)
m-mntmint = (1-n+mn?)
de+d = o (etd)

= p(1+1)
NN

abc+bcd - e (a-f d)

pq+p

fS_f4

v+7 = y(r+y)
gh~hg’ gk(f'j)
B = 1,3(4,1-1)
peay =z(z44)

~mp-gm = = (p ’Lj)

—k_yl® = - uz(f + u-g)

* If both terms are negative you must take out the minus sign.

15




Type 3: Taking out a number and a letter eg. 4b(

[S—

>

1.

13

15.

i/,

19,

21,

23,

23

5¢+10g82 = gj(H lj) %
2y + 4y = lJ(l * '2) 4.
= 4p (2 ’sz) 6.

4ab +8ac +12a% = 4a (bt I+ 3%.

8f +4f3

24d +36ed = (d (44 6e) 10.
22n—55mn = [[n (L - 5m) 12,
15pq +214> +3g = 39 (% *711‘9 14,
6b-9 = 3b (- 3") 16.
3pg - 69 +21¢°= 39 (P-4 *71) 18.
~Sy— i = = 530 t Zj) 20.
~15pq—25pg> =~ 5pq (31 51) 22.
ag_ap = -2 (1T q,) 24,

-28n-21 = - 4 +3n) 6

).
4
10n— 152> = 5"‘(2’ 5“)

20mn-10m = fom (20 = 1)

2xy + 10xz =.Zx€j'f.5.z)

3re6rr = 34 «lf)

160>+ 14n  — gn((?n-}v

24ab-15a = 3a(8b - 5)

2022-10z = JoZ (222— ’)
2u?

25u—50u = 07-5“'(!’

27Tn-33n*+n = n(”’ 330 +Q

_30g—10gh = —103(34 k)

= =32(% T 71)

- 12z-2177
_18fg- 152 = ’3-F(6j+5’c)

2
-2q-4¢ = - 21 (l + 2%)

* If both terms are negative you must take out the minus sign.

16
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©Y 54 Factorising practlce

Factorise each of the algebraic expressions by taking out the highest common factor.

---------------------------------------------------------------------------------

1. 5p-20

2. 18-12¢
. 12r-15
. 25m~35
. 54 - 36u

3
4
5
6. 42g-49
7. 50-15w
8. 15-60s
9. 36-24y
10. 32h- 56
11. 9a-12b

12. 24d-8

Set 2

W - w?
wt — w?
-

m-mn

[y

abc-ab
ed-e
ed - e*
pq-pq’
s*t - st

2 oE W & o e IR

st - st}

[am—y
©

a*b - a?

[ Y
B e

vw? — viw?

5(p-4)
6(3- 2e)
3(4r-5)
5(5m =T)
6 (1= 6)
#(69-%)
5(1o-3w)
(5 1~%s)
6(6~-1y)
3(4h jst)
3 (la - 45)

w([-w)
1([— w)
1(fw

m(i-na
ab( < )
e(d-1)
e(d-e)
Py Ct-r1)
st(s-1)
gL i~ % 1)
vw*( 1 = v)
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Set 3
1. 4p- 20p? (- 5”)
2. 25a-20a’ 5a (5- 4a")
3. 45m - 30mn I5ﬂ1 (3 B 2")
4. 24a+ 32ab fa(3 +4b)
5. 15st-12s 3s (_i_{'_:_j)
6. 30d - 274" 3d (lo - _“Z)
7. 2x+ 6y +4z 2(1"‘ 337"22)
8. 15a-21b+ 30 3(s5a=1b+10)
9. 5e— 20f+ 40 5(e- 4'-F+9)
10. 28m + 40mn - 16m* 4 M (77“0“ =
11 125-24t+ 3052t 6 (25-44+4 55 l‘é)
12, 12ed+ 16cd s 8de  Fed (3+40 +2)

Set 4

1. -a-b-c —(Rfl_b,*c)_

2. -20- 30b —1o(2435)

3. -80r - 48m = §(10r +6m)

4. -45y - 54y? -Ty(5+ ‘j)

5. -42a- 36b —~6(Te 4+ 64)

6. -60a - 20a? ~20a(3 +a)

7. -51m - 17m® - {Tm (3 +m)

8. -ab - ab? ~ab(l+b)

9. -36ab - 45ab? -fab(4+5 [,)

10. -50mn-75mp  —dS5m (dnt 3/’)

11. -a8er-24f¢  —2%f(2e 1)

12. -14st-280  — 1t £ (s+ 2¢ 2)



Homework Sets

Set 1: Expand Set 2: Factorise

1. 2(m+5)= Im +l0 1. 3a-6= 3(“2)

2. 6(p+3)= Gp tI8 2. 5¢-20= 5(q -4
3. blc-d)= be— bd 3. 12z-15-= 3(42—5)
8. blc-b)= bc b 4. xy—y2=J(L—j)
5. 8(2a-4)= [ba-3d 5. ab+bc= b(atc)
6. y(5x-2y)= 5@—{51 6. ntint— n2(1+7)
7. 11p-q= lp~ g 7. c-c5= c(/'04)

8. 42-3n= &7 8. 8a-4a= {a(d-o’)
9. b(10d-3) [obd —3b 9. 2p-6pq= &([-31)
10. 92q+5)= 89 1 9 10. 2p-6p2= ,z,o(/-fp)

11. 7d+b—n)=Td+T6=T0 44
12. 2a(y — 12h)= «lc’:j ~24ah 12,
13. 8b(2a-4)= [6ab - 3db 13,
14. 3x(5x-2y)= |5 - 63 14.
15. 11p(p-q)= Ip° - P 15

18

15m—-5n= 5(3m-1)
15m-5mn= Sm(3-n)
15m-Smen= o (37 mn)
ab2+ab3= ab*(l+)

a?h +a’b2= o b (| 4 ab)



Challenge 1:

Given a square with area x,

h area y, determine

the area of the individual shapes (A 5 H)

.

i

and quadrant w

the larger composite shape below.

within
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Challenge 2:

Escape from algebra island puzzie

One paih has been found for you!
A 4 4% e 5t ) D= 32 =20

Sgquare steps = multiply
Circle steps = divide
Trapezium steps = add
Pantagon steps = subtract

} Remember, like terms only!

Starting with a value of 4%, travel along the lines from step to step unti you get to the outer edge.
Each step affects your value,

If you have exactly 2x left when you reach one of the shapes at the outer edze, then you have escaped!
Good luck,

How many paths can you find to get away from Algebra Island?

How many steps is the fongest path you can find?

20
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